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Normal PDF around Linear Function
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example3.stan(*E7I/IL7AOY I DH)

EF )LD 13-model{
14 //E T I D E R

1= Fot Fux 15  real mu[N];
y ~normal(u, o) \16\f0r(n in 1:N){

muln] = betaO+betal*x[n];
y[n]l ~ normal(muln], sigma);

&
18
L e 19 3}
FHTHORE 20 //EWMHTORE
l%Nquﬂwud(Qloo),,,—Q&f* betaO ~ normal (0, 100);

////;2/* betal ~ normal (0, 100);

S, ~ normal (0,100%3/ sigma ~ cauchy(0, 5);
4 }
o ~ cauchy (0,5) 25

TDFEE



Stan— N2

~data{

2l dint N;//ABCER) EIT—X%ZEE
3 real y[N];//#FBIZEHNE®EF (EH)) NADDY ¥ x EET L
d  real x[N1://% B % M (NE O B3I (EH)) ARDy e x e’

5

6

7| parameters{ )

8 real betaO;//t] K (£ #)

9 real betal;//[E )% % 2 (= %)

10 real <lower=0> sigma;//EHR 7 H DEFEERZ(FIREO) (E )

11\ } J

Lz \/

13- model{ 0 m—

14 //ET I O ETILTESINSA2ZEE

15 real mu[NI]; - beta0, betal,sigma & WD /NT X F%ZED K
16- for(n in 1:N){ - sigmalFIEDIBTE K

17 muln] = betaO+betal*x[n];

18 y[n] ~ normal(mul[n], sigma);

19 }

20 J/BRINTDERTE

21 betaQ ~ normal (0, 100);

22 betal ~ normal (0, 100);

23 sigma ~ cauchy(0, 5);

24 } 11
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#E 4T 1 — P -

model<-stan_model ("example3.stan") <4z oEF)LEO>/51)L

data<-Tist(N=nrow(dat), y=dat$y, x=dat$x)
_ _ TETT—2%1) X ME TIERL

fit<-sampling(model,
data=data,
chains = 4,
1ter = 2000,
warmup = 1000,
seed=123)

—MCMCH > 1) > DELT

chains:
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Iter:
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warmup:
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> fit

Inference for Stan model: reg. —~MCMCODEEE
4 chains, each with 1ter=2000; warmup=1000; thin=1;
post-warmup draws per chain=1000, total post-warmup draws=4000.

Samples were

and Rhat is the poten

convergence,
>

4 mean se_mean sd 2.5% 25% 50% 75% 97.5% n_eff Rhat
beta0 32.21 0.17 5.44 21.63 28.70 32.15 35.67 43.25 1031 1
betal 5.42 0.01 0.17 5.08 5.31 5.42 5.53 5.76 1042 1
sigma 5.13 0.02 0.70 4.02 4.62 5.06 5.53 6.80 1488 1
\lp__ -62.74 0.04 1.34 -66.27 -63.30 -62.37 -61.77 -61.24 1050 14/

n using NUTS( 1ag_e) at Tue Sep 19 14:14:
crude measure of effective
N1 scale reduction factor on split
Rhat=1).
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sample size,
chains (at



NFRXREDBERHZHBAIIC

MCMCORRE=ZFTvI95

F 1 VAHADEIFSEEDMZARL TLRITULE 5780,
FIADESOYHMEICBEICEEZ DITHRT TR,
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## L —2270v b

stan_trace(fit,
pars=c("beta0", "betal", "sigma", "lp_"),
inc_warmup = T)
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#EXRZE 7O b

stan_dens(fit,
pars=c("beta0", "betal", "sigma", "lp_"),
inc_warmup = F,

separate_chains = T) INERLTWBLE 5, ‘
TNhENDOF 1O TILD
A EG->TVBIRT
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> fit
Inference for Stan model: reg. 1.1LXJ:=NG

4 chains, each with 1ter=2000; warmup=1000; thin=1;
post-warmup draws per chain=1000, total post-warmup draws=4000. q
Rhat

mean se_mean sd 2.5% 25% 50% 75% 97.5% n_eff
beta0 32.21 0.17 5.44 21.63 28.70 32.15 35.67 43.25 1031
betal 5.42 0.01 0.17 5.08 5.31 5.42 5.53 5.76 1042
sigma 5.13 0.02 0.70 4.02 4.62 5.06 5.53 6.80 1488
Tp_ -62.74 0.04 1.34 -66.27 -63.30 -62.37 -61.77 -61.24 1050

[I—‘I—‘I—‘I—‘

Samples were drawn using NUTS(diag_e) at Tue Sep 19 14:14:15 2017.

For each parameter, n_eff is a crude measure of effective sample size,
and Rhat is the potential scale reduction factor on split chains (at
convergence, Rhat=1).
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> fit

Inference for Stan model: reg.

4 chains, each with 1ter=2000; warmup=1000; thin=1;

post-warmup draws per chain=1000, total post-warmup draws=4000.

mean se_mean sd 2.5% 25% 50% 75% 97.5% n_eff Rhat
beta0 32.21 0.17 5.44 21.63 28.70 32.15 35.67 43.25| 1031
betal 5.42 0.01 0.17 5.08 5.31 5.42 5.53 5.76| 1042
sigma 5.13 0.02 0.70 4.02 4.62 5.06 5.53 6.80| 1488
Tp__ -62.74 0.04 1.34 -66.27 -63.30 -62.37 -61.77 -61.24 1 1050

PR R

Samples were drawn using NUTS(diag_e) at Tue Sep 19 14:14:15 2017.

For each parameter, n_eff is a crude measure of effective sample size,
and Rhat is the potential scale reduction factor on split chains (at
convergence, Rhat=1).
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stan_ac(fit,
pars=c("betal0", "betal", "sigma", "lp_"),
inc_warmup = F)
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Avg. autocorrelation (pi[9])
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mean se_mean sd 2.5% 25% 50% 75% 97.5% n_eff |Rhat

beta0 32.21 0.17 5.44 21.63 28.70 32.15 35.67 43.25| 1031 1
betal 5.42 0.01 0.17 5.08 5.31 5.42 5.53 5.76| 1042 1
sigma 5.13 0.02 0.70 4.02 4.62 5.06 5.53 6.80] 1488 1
Tp_ -62.74 0.04 1.34 -66.27 -63.30 -62.37 -61.77 -61.24( 1050 1




TRENERS

iter =2000 D#FER

> fit

Inference for Stan model: reg.

4 chains, each with iter=2000; warmup=1000; thin=1;

post-warmup draws per chain=1000, total post-warmup draws=4000.

sd 2.5% 25% 50% 75% 97.5%(n_eff)Rhat
21.63 28.70 32.15 35.67 43.25| 1031

5.08 5.31  5.42 5.53 5.76| 1042
0.0210.70 4.02 4.62 5.06 5.53 6.80| 1488
0.04)1.34 -66.27 -63.30 -62.37 -61.77 -61.24| 1050

MCSE = SD/VESS

mean [(se_mean
beta0 32.21
betal 5.42
sigma 5.13
Tp_ -62.74

R RR R

iter = 10000 D#ER

> fit2

Inference for Stan model: reg.

4 chains, each with iter=10000; warmup=1000; thin=1;

post-warmup draws per chain=9000, total post-warmup draws=36000.

mean (se_mean sd 2.5% 25% 50% 75% 97 .5%(n_eff)Rhat
beta0 32.06 0.05]5.21 21.76 28.65 32.03 35.50 42.30(11169
betal 5.43 0.00]0.16 5.11 5.32 5.43 5.53 5.75(11210
sigma 5.09 0.01]0.70 3.95 4.59 5.02 5.50 6.68|13906

Tp_ -62.69 0.01)1.29 -66.04 -63.26 -62.35 -61.76 -61.24(10168

FEPMEARITBIY TN ETFEH. B LHTEE
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stan_plot(fit2,
point_est = "mean",
ci_level = 0.95,
outer_level = 1.00,
show_density = T)

betal

beta1

sigma
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print(fit2,
pars=c("betal0", "betal", "sigma"),
probs = c(0.025, 0.975),
digit=2)

mean se_mean sd 2.5% 97.5% n_eff Rhat
beta0 32.06 0.05 5.21 21.76 42.30 11169 1
betal 5.43 0.00 0.16 5.11 5.75 11210 1
sigma 5.09 0.01 0.70 3.95 6.68 13906 1

beta1l

o] R {% &N X95% DFHEFR TS5.11~5. 75D B[




#HEMCMCYH V T I ZBRODHE UL TH % -—----
MCMC_sample <- rstan::extract(fit2)
MCMC_sample$betal

L¥rLl | J. 2L0TLU Jo IHUUIDT . LU e I3IHTLSG . HL0OUD0 D 3IUUDSY J. JUTIIUD 2. L9009 10 J. L0001 . 3F0UDSH J.9UTIUD DL JUUS U0 DL 03 FaBU0ITT DL L5 L9039
[9526] 5.327744 5.391297 5.586168 5.228040 5.471859 5.396478 5.394000 5.298967 5.294479 5.407322 5.313322 5.690541 5.242444 5.492485 5.442045
[9541] 5.523062 5.682807 5.403977 5.711528 5.238148 5.021745 5.267758 5.368967 5.606367 5.442238 5.484823 5.457237 5.406047 5.181691 5.221145
[9556] 5.583856 5.418137 5.346719 5.403742 5.694464 5.406850 5.197044 5.503226 5.574650 5.647990 5.588874 5.374763 5.257702 5.696040 5.684942
[9571] 5.292002 5.497614 5.287017 5.407800 5.450511 5.591223 5.341848 5.308522 5.349519 5.429579 5.488189 5.331035 5.423699 5.459995 5.270441
[9586] 5.443112 5.551823 5.357891 5.393292 5.719813 5.737147 5.423611 5.582843 5.359094 5.195234 5.448931 5.540705 5.467804 5.511697 5.569983
[9601] 5.216079 5.545751 5.253380 5.227147 5.248379 5.049595 5.310313 5.421093 5.489024 5.485219 5.685252 5.710785 5.270703 5.509406 5.260835
[9616] 5.541055 5.682500 5.472370 5.539820 5.485763 5.549721 5.216008 5.196411 5.535062 5.506433 5.378822 5.367976 5.205392 5.232530 5.193947
[9631] 5.339119 5.381403 5.340438 5.462128 5.303274 5.323616 5.630579 5.448144 5.440452 5.419324 5.491012 5.549345 5.396453 5.606915 5.090921
[9646] 5.148990 5.402892 5.372041 5.395216 5.639929 5.445213 5.583051 5.123423 5.570712 5.346336 5.525440 5.289096 5.124714 5.498917 5.326757
[9661] 5.537477 5.463039 5.158288 5.623456 5.533672 5.516235 5.459725 5.509476 5.336971 5.176089 5.364578 5.616866 5.317989 5.415214 5.211840
[9676] 5.329596 5.740530 5.086448 5.248351 5.623909 5.439858 5.323970 5.401471 5.440994 5.471716 5.466710 5.478588 5.445794 5.333914 5.545963
[9691] 5.394366 5.362815 5.275089 5.504674 5.347213 5.384583 5.382437 5.359517 5.575699 5.424004 5.631942 4.971791 5.614748 5.327558 5.488903
[9706] 5.636495 5.411853 5.023058 5.427178 5.522153 5.115228 5.256378 5.594736 5.457374 5.379871 5.329675 5.569590 5.409419 5.320595 5.414298
[9721] 5.624036 5.473210 5.284501 5.448425 5.604199 5,380861 5.336508 5.404221 5.392213 5.689517 5.158517 5.612915 5.261411 5.623937 5.571804
[9736] 5.415824 5.586629 5.250031 5.475339 5.350601 5.355794 5.497493 5.402543 5.412105 5.165743 5.586504 5.296861 5.425383 5.4643063 5.634242
[9751] 5.457049 5.218538 5.347443 5.444074 5.571790 5.259725 5.321866 5.541890 5.166652 5.535494 5.342726 5.540269 5.0539826 5.423026 5.380296
[9766] 5.327957 5.500350 5.564712 5.535970 5.332730 5.330612 5.372054 5.470599 5.415579 5.311598 5.800682 5.295659 5.395054 5.450714 5.433114
[9781] 5.305030 5.426745 5.371906 5.427851 5.488430 5.158702 5.351487 5.220493 5.598603 5.041680 5.501504 5.451044 5.264861 5.418514 5.681993
[9796] 5.322028 5.576613 5.659707 5.391264 5.304711 5.195193 5.396485 5.355377 5.334470 5.506894 5.400300 5.391822 5.531689 5.466296 5.477733
[9811] 5.524075 5.592017 5.495238 5.273194 5.541097 5.487424 5.432141 5.634036 5.827715 5.419672 5.464317 5.254784 5.374201 5.299846 5.628546
[9826] 5.197037 5.519877 5.481440 5.311706 5.789387 4.884573 5.271566 5.451288 5.567992 5.401861 5.285810 5.528694 5.515528 5.784244 5,235852
[9841] 5.427705 5.366086 5.485043 5.468828 5.048683 5.327874 5.198257 5.300303 5.203722 5.604651 5.232679 5.270381 5.843844 5.376533 5.586029
[9856] 5.252775 5.521540 5.410832 5.518144 5.355337 5.500081 5.489055 5.263331 5.372635 5.483577 5.387697 5.474512 5.789923 5.508983 5.547019
[9871] 5.532555 5.504337 5.323353 5.714781 5.427752 5.374196 5.429243 5.521466 5.320753 5.516128 5.462477 5.226265 5.346915 5.403695 5.655206
[9886] 5.744851 5.515232 5.417890 5.457810 5.277921 5.407784 5.322643 5.427137 5.191031 5.561998 5.410702 5.612071 5.364951 5.361724 5.556714
[9901] 5.405357 5.214694 5.215783 5.270046 5.122227 5.609517 5.339299 5.505984 5.051742 5.309609 5.577188 5.100382 5.210931 5.338170 5.242857
[9916] 5.494320 5.279839 5.4200686 5.467431 5.226570 5.342503 5.173700 5.474954 5.120192 5.388047 5.071685 5.558050 5.497036 5.433397 5.807631
[9931] 5.542141 5.468080 5.644989 5,640255 5.700194 5.470304 5.632904 5.448672 5.296340 5.495016 5.428788 5.423055 5.428169 5.288128 5.549563
[9946] 5.617458 5.291532 5.362761 5.408573 5.496875 5.338166 5.409951 5.492119 5.373749 5.303897 5.581111 5.321083 5.247136 5.557733 5.434447
[9961] 5.255783 5.318330 5.405285 5.288522 5.246765 5.430772 5.535952 5.485694 5.048507 5.220742 5.716676 5.308802 5.403158 5.511092 5.421033
[9976] 5.279330 5.619901 5.209563 5.625805 5.387189 5.577692 5.610974 5.028130 = I7QAQTI & AR1137 S A2IRIT £ EEAIAL B 1RAATE K ARRITR S R1473432
5 5 5 5 5

[9991] 5.383406 5.442135 5.792463 5.508121 5.384278 5.265811 5.295682 5.45( L
[ reached getoption("max.print") -- omitted 26000 entries ] 36000 E@ MCMC I ' / )L
=
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‘betal <- MCMC;sampTe$betél

>

> print(

+ quantile(betal, probs = c(0.025, 0.975)),

+ digit = 3 \

+) & D72 L7236000{BIDMCMCH > 7 IL D
2.5% 97.5% 25021 IR E97.5% X1 )L mxKD B
>.115.75 =ERFRDIS%EERMERD 3

density.default{x = beta1)

25

£ D72 L7236000fBDMCMCY > 7LD
| R 7O bk
y =ElRFHOFEDIBZHE<

15

Density

10

05
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0.0

5.0 55 6.0

N = 36000 Bandwidth =0.01765



MCMCH > 7IILZBHIc2H S

o] jRBREDSZ B R DEERLHMD 7=\ !
> a <- 5

> sum(1felse(betal > a, 1, 0))/length(betal)

k[l] 0.9942222 ¥ D712 L71236000EDMCMCH > FILD S 5

99.4% 1 1 S5% R T-EZ = £ 2 T, 36000TH3
[ ] 0 [ J [ J

; é <- B
= sum(ifelse(betal = a, 1, 0))/length(betal)
[1] 0.0004166667

= a <- 5.5

= sum(ifelse(betal > a, 1, 0))/length(betal)
[1] 0.3228889



MCMCH > 7IILZBHIc2H S

UED'30ED L EFDEHDIS%EBEAHH D 7=L)

betal<-MCMC_samplefbetal

betal<-MCMC_sample$betal BZBINTAZDODMCMCH > )% & D12 L THEA

s1gma<-MCMC_sample$sigma

=
=
-
=
> X=-30 . / g

> y<-rnorm(n = 36000, EFETILICIES oy (BLEY) % 36000MEFE
+ mean = betald + betal#®*x,

+ sd = sigma)

-

=

round(quantile(y, probs=c(0.025, 0.975)))

2.5% 97-5% i ey (2.5%, 97.5%

Ryl ED—E
- I ‘f? /T')I//‘\\%i_%b 2:'51)‘%5 *L éﬁ%éﬁi 'tj?7k )/(EBESCNJ()TIICZ) )

[9796] 197.1240 188.6008 186.0957 198.9072 194.2556 197.3051
[9811] 195.6576 194.9754 202.9250 196.9239 188.3343 192.4133
[9826] 192.1186 196.4582 200.4046 200.3447 197.9343 192. 3935
[9841] 197.2240 189.7236 189.3067 200.1799 184.5545 199.931E8
[9856] 191.0731 197.8907 185.9613 200.5236 198.9759 194.7952
' ' [9871] 196.0838 203.1068 200.9442 199.6343 207.9483 191.8382
185 y U205 ® ® [9886] 199.6671 197.0766 193.4163 186.5562 195.1757 189.1155
[9901] 202.8738 188.2106 197.6500 198.8228 183.9102 191.8424
[9916] 199.9673 195.6112 192.8284 194.2560 195. 5894 194, 5207
[9931] 194.7325 196.0280 198.8894 185.8372 200.1046 191.551E
[9946] 197.0613 197.3704 187.1656 195.1825 192.5136 196.982C
[9961] 192.7017 190.0687 195.9860 208.9759 203.0380 192.5204
[9976] 193.3814 195.4453 190.2607 196.1808 195. 8417 188. 0084
[9991] 195.7850 189.6549 190.3989 199.9954 193.1358 205. 6664
[ reached getoption("max.print") -- omitted 26000 entries ]
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—iR{LIFRZETIL (GLM) D#2iEH

VHRIMER (u) 7 x DIFTEEESTRIR
VuRh3ICy b TH359Mm1 ICRE> THS

RREHOEADOIER S PDF
8 ' 2
S
0 g, BRI DEE —
U = ﬂO + ﬁlx - o ‘,,é_"f
y ~normal(u, o) s ViNsen)
N . %7
PNERAI > THRET 5L ERD o )

15.9 (p. 453)



GLMOA:NFI=RIR (p. 452)

u=f(in(x), )NZXZ])  siEf () F x OETES TER

y ~ pdf(u, [/NZ X)) VuRBRBICy D Va0 IChE> THRE
7<15.2

HETFRZEE vy HEW G /A 5% HARE ) > TR
RF—=N247T  y~pdf(y, [/¥7 *—2]) u = f (linx), [/¥5 * — &])
B/ i ~ normal(y, o) u = lin(x)
2 {g y ~ bernoulli(u) 1 = logistic (lin(x))

. _exp (ling(x))
= y ~ categorical(..., g, . ..) Uk = T exp (in. (1)

- D (0 — lin(x)) /o)
B y ~ categorical(. .., i, ... =
Iy ~ categorical( Uk, - .) i (6 — lin(x)) /o)

h b Iy ~ poisson(u) 1 = exp (lin(x))

i W iZ Pl Shzz7—rodiEm (FEThr0E TR ). FRIZET ¥, lin(y) 2% 15.1 TR
ENTWAE L)% x ORIZEEL

* pdf: FEEREEZ B8 (probability density function)



() A X7+ v 70lEDIEE

TR ZZ y AL /1 X Hh HAR ) > TR
Ry=Iv247  y~pdfy [/¥7 X —2]) p = f(link), [/¥Z7 X —Z2])
2 & iy ~ bernoulli(u) u = logistic (lin(x))

1
(1 + exp(—x))

logistic(x) =

50 I

[N];

in 1:N){

[n] = inv_logit(beta0+betal*x[n]);
yIn] ~ bernoulTi(muln]);

=515 % O 3 0 n:
betald ~ normal (0, 100);
betal ~ normal (0, 100); https://mathwords.net/logitkansu
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RHEAZEZZT-WES: BNTEOIEET-T  v-0+ 1+ o+ 03
X .

y = Bo + B1x1 + Paxy + Pro2x1X;
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yDEAL= i
J vy =1.69+<0.07,—-0.07 >-x

y = Bo + Brayxp + -+ By me

— ,80 + ,B % ' Bp=1.69 | J
Bz =-0.07

J
- Z Pl =
j=1

y
150 155 160 165 1.70 1.75

<1,0> <0,1>
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